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Figure 1: FEuropean call
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Figure 2: Asian call
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Figure 3: Lookback call



log, variance

10
0 R
-10
-20
80 | |[—*—P;
K ¥ Pr— Py
-40
0 2 4 6
level ¢
8
*
s
(<]
5° X
. 7,(
-
&4 %/
% /
8 *
3 /
g2 *
v/
*
/
0
0 2 4 6
level ¢
10°
<O+ 0.01
5 BRICT R X+ 0.02
" o Ol 0.05
10* X oG- 0.2
SO O
E e 0.,
R
@ ooB
102 A . *
|
10"
0 2 4
level ¢

5 7
*
g 0 %
2
—%—P,
ke B=P *.
*
-10
0 2 4 6 8
level ¢
120
100 jk
/
80 %
g /
o 60 *
5 /
= /
40 K
K
20 /*/*’
*
0
0 2 4 6 8
level ¢
10°©
—— Std MC
* oo MLMC
X
Z
o 10*
Nlu
103
T Fo Ko
102
1072 101
accuracy €

Figure 4: Digital call
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Figure 5: Barrier call
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Figure 7: Asian call
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Figure 8: Lookback call
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Figure 10: Barrier call
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Figure 11: European call
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Figure 12: Asian call
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Figure 13: Lookback call
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Figure 14: Digital call
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Figure 15: Barrier call
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